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Please write your answers in English or Chinese on the answer sheet.

1. Consider this set of data from a language that we will call CH. (20%)

1
2
3
4
5.
6
7
8
9

10.
11.
12.

. namesehe
. emesehe
. naefemesehe

. esaamesehehe

emeomesehe

. eohkemesehe
. epevemesehe
. esaaefemesehehe

. eohkesaapevemesehehe

eohkepevemesehe
nameoefemesehe

naohkepevenemene

‘I eat.’

‘He eats.’

I already ate.”

‘He doesn't eat.’

‘He ate this morning.’
‘He always eats.’

‘He eats well.’

‘He has not eaten yet.’
‘He never eats well.’
‘He always eats well.’
‘I already ate this morning.’

‘I always sing well.’

Now, answer the following questions.

(1) First, provide a list of all the CH morphemes in the dataset and the English
equivalent of each. There are 9 distinct morphemes in this dataset. Write them in

the table.
English translation | CH morpheme English translation | CH Morpheme
1. I 6. this morning
2. he 7. well
3. eat 8. always
4. already 9. sing
5. does/has not
(2) In CH, how would one say “He already sang this morning’?
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2. Consider the distribution of the pairs [i, i] and [u, 1‘;]‘in Mokilese, a language
spoken in Micronesia, and answer the following questions.

a.uduk  ‘flesh’ b. pisan ‘full of leaves’

¢. dupukda ‘bought’ d. kaskas ‘to throw’
e.puko  ‘basket f. poki ‘to strike something’
g kisa ‘we two’ h. pil ‘water’

i. sypwo ‘firewood’ J- apid ‘outrigger support’

1. kamwokiti ‘to move’ m. ludzuk ‘to tackle’

(1) Do [i] vs. [i] and [u] vs. [u] occur in an overlapping distribution or a
complementary distribution? Please provide your evidence. (10%)

(2) Do the two pairs of vowels represent separate phonemes or allophones of the
same phoneme?  Please provide your evidence. If you think they are allophones of
the same phoneme, please use features to write a phonological rule to describe the
pattern. (10%)

3. Ithas been noted that when children overregularize past tense morphology, they
are more likely to do this with certain types of irregular verbs than with others. For
example, English verbs which undergo ablaut and no other process in forming their
past tense (e.g., sing/sang, ring/rang, etc.) are more likely to be overregularized than
are verbs which undergo no change (e.g., hit/hit, shut/shut, etc.). When adults are
asked to supply past tense forms under time pressure, a similar difference in the
amount of overregularization occurs. 'Why do you think this might be? (20%)
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4. Examine the following sentences from an Oceanic language. (20%)

a. gulak ftis zewim Al ‘Ali chased this dog.’
dog. this chased Ali

b. rofab tis en Ali ‘Ali (is) in this house.’
house this in Ali

Write the phrase structure rules based the data above.

(I)NP >
2)PP->
@)yve=>
4) S(orTP) >

5. One day your friend who runs a restaurant got a delivery order for #&£4% with -
a note like this “7R & #8840 & 2L 9} &9 B, and hence your friend prepared a hot
pot with # 1 for the customer. The customer was very angry and gave your
friend’s restaurant a very bad rating on the internet, but your friend was upset and
didn’t know why.

This is an example of the so-called ‘garden-path’ effect. Try to explain what this
tells us about how the parser (i.e., our brain) processes sentences. (20%)



